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NAME l}cmo?/ Q Wen

The questions sum up to 80 points. You get 20 points just for submitting the exam. (Total = 100 pts)

Midterm exam

The midterm exam is due on Monday, May 11 at 8AM. No late submission will be allowed.

We can answer to clarification questions via email until Friday, May 8 at 6PM. After that, we’ll not
answer to any questions regarding the exam. ;

You can either handwrite your answer and scan it or type directly on the .pdf file.

1 Short Answer (10 pts)

(1) Please explain why phonologists posit abstract underlying representations for words. .
P"\mo\oai*ab Pﬁa' "“j“lfg‘\) represtatitions g, they ore a vy 4o atceunt Far var,‘ﬁh‘m n P‘nontmfg as the
Oppear n a lMJ\MJ(’.. Plf\nno\OJ;LA ru‘c‘y arlolj Yo Yhese un‘u‘yh\a forms 14 SP&LI\FI‘L qu\mhmﬂYBJ which afee
fle srface Soem b phontmis, Undeding Ssnns are o 3°"\ e b ot B yaribin walch onngl e c.xfhhu\

2 Contrast and allophones (20 pts) L’ a rule.
The following data from Ganda exemplify the complementary distribution of [r] and [1].
kola ‘do’ wulira ‘hear’ oluganda ‘Ganda language’
wawa:bira ‘accuse’ olulimi ‘tongue’ Egi_x;a. ‘command’
ebendera  ‘flag’ lu:la ‘ruler’ le:rwe ‘railway’ ] ¥ b l’tlf’!
sa.fg_-ix_ ‘safari’ lwana ‘lwana’ beiz’ra. ‘help’
bu?li_x_‘a ‘tell’ &ukira ‘remember’  lja ‘eat’ - L - 0
erjato ‘canoe’ luila ‘sit’ omuliro  ‘fire’ oA = e
= T
omugole  ‘bride’ effirimbi  ‘whistle’ lumonde  ‘sweet potato’d - e _.? e
emme:ri ‘ship’ eddwaliro ‘hospital’ eraddu ‘lightning’ 3" (e
(2) State a generalization about where [r] and [1] are found. ﬁ:} C!

[f 105 (2ol AT e o vowtls  ifheens,
VJB\-l 1o fouad elotwhere

Which allophone is more basic (= underlying form) in Gandz

P‘ 0 “15




> vhderlying representations (25 pts)

o - vl
The following words are Some examples of numerals in Tibetan, )
. I
&ig ‘one’ u ‘ten’ (kui'gu ‘nineteen’
i ‘our qugkig ‘eleven’ fibku  forty’ =15
na ‘five’ &ubfi ‘fourteen’ nabku ‘fifty’ [o -4

gu  ‘nine’ guna ‘fifteen’ gubdu ‘ninety’

(6) What kind of syllables does Tibetan haye? State schematically using the C/V bracket notation
(as in “(C)VC»). in 'I,‘ID,,E..,]

CV(¢) g

u‘;fifs} Lut 57” ahles, Lanns T

(7) What is the order of morphemes in Tibetan numerals for teens (e.g., 14) and for multiples of ten
(e.g., 40)?

“14” 1® = 0 a4 -0
Yeran, 10 -y fens: X-10

(8) State a descriptive generalization about the phonological alternation you see in this problem. {
N\m 7 morplnme’: in Tﬂoe}fm A\'crnal'e e\'wccn 2 Sucfae Trmo:
W)
Whea "Lbj e ot word -injh\  they ﬁn Chnsonant dwsters ) but w\‘u\" >

Hw,j are.  The In:ha\ Consonant 1y Mem.

(9) What are the underlying representations and allomorphs for:

it

UR Allomorphs 3 ﬂ'
‘one’ /9%14q / [a%! 24 ——
e | w4/ sy [Asu)
T i L]
V"‘fvﬂ‘f‘f’z : % ?l =i / ﬂ’ ;
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4 Rules and rule interactions (25 pts)

The following paradigms from Catalan (simplified for this question) show evidence of two rules.

Masc sg Fem sg Gloss Masc sg Fem sg Gloss J «’.
akaf okaka ‘that’ sayu sayura ‘sure’ v
nu nuy ‘nude’ sarado saroé?ra_ ‘reaper’ % ﬂ/ Vchr
Jop Jopa, ‘drenched’ sifil sifila ‘civil’
aspes aspesy. ‘thick’ for forta ‘strong’
baf bafa ‘short’ sor sorda ‘deaf’ n
~tot tota ‘all’ san santa ‘saint’ t I
pok poka ‘little’ alBi alfing ‘albino’ 4
mal malgy ‘bad’ pla plana ‘level’ d
kru krua ‘raw’ Sare sarena ‘calm’
askep askepa ‘shy’ al altg ‘tall’
sek seka ‘dry’ prufun prufunda  ‘deep’
gros grosg. ‘large’ kur kurtg ~ ‘short’
kof kofa ‘lame’ ber berda ‘green’
— brut bruta ‘dirty’ kalen kalenta ‘hot’
sulim sulima ‘sublime’ fokun fokunds ‘bad’
maksim maksimg ‘maximal’ dasen dosenta ‘decent’

(11) What are the underlying representations for the masculine forms of:

‘all’ /t°t/ ‘sure’ /Sbyur[ ‘civil’ /5iBi|/
‘strong’ ZF.’)F'” ‘level’ /t"&h[ ‘deep’[ﬁf‘“fu'\A/

(12) State the two rules of Catalan in prose.

Ruel: |N] and [P] are adeted n vaed -Fin 'Poh'ﬁun  \' i

o ST conpants aredelete) ?o\\owm a

gy

SoNuran Conwnant
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(14) How are these rules ordered with respect to each other? Support your answer with a derivation for
masuline forms of ‘all’, ‘sure’, ‘civil’, and ‘strong’ below. What kind of interaction is this?

‘all (masc.)’ ‘sure (masc.)’ ‘civil (masc.)’  ‘strong(masc.)’
UR fot sayur | oiRil fort
Nosal[Teill Delefion | o} 5 Y u Sif3il fort
Custer simphibutin | 1ot 53y U SRl Fop
Surface form ol oYU siBi' for

Rule ordering type: (o V\h*f-!‘ '&L&:U

(15) Now, show a derivation with the opposite (incorrect) order and give the hypothesized surface forms
that the opposite (incorrect) order would produce. What kind of interaction is this?

‘all (masc.)’  ‘sure (masc.)’ ‘civil (masc.)”  ‘strong(masc.)’
UR tot Seyur sif il Forl
(luster s‘mr\i?.‘ul‘m {'Nt 59y Ur siBi\ £ ar
Nasal [Toll Deletig Yo Spyu 6Bl fo
Surface form t“\) SDYU o1 3l fa

Rule ordering type: 'Fe,(’,& { nj >< o




